Trung tâm Luyện thi Amax – 39 LK 6A Làng Việt Kiều Châu Âu


Chuyên đề - tính tổng Sn
Tính tổng: Sn = 1 + a + a2 +a3 +…+ an
* Xét a = 1 ta có:
Sn = 1+ 1 + 12+ 13+ 14+… +1n = (n +1) .1 = n + 1
* Xét a ≠ 1 ta có:
=> Sn = 1 + a + a2 +a3 +…+ an
=> a.Sn =  a + a2 +a3 +…+ an+1
=> a.Sn – Sn = an + 1 – 1
=> Sn(a – 1) = an + 1 – 1
=> Sn =( an + 1 – 1): (a- 1)

Áp dụng tính:
1. Cho A = 31 +32 + 33 + 34+35+ … + 32013
a) Thu gọn A.
b) Tìm x để 2A + 3 = 3x

* Cách 1:
A + 1 = 1 +  31 +32 + 33 + 34+35+ … + 32013
=> A = ( 32013 – 1) : (3 – 1)
=> A = (32014 – 1 ) : 2
     A  = (32014 – 3):2.
* Cách 2:
3.A = 3(31 +32 + 33 + 34+35+ … + 32013 )
Suy ra:
3A - A = 3(31 +32 + 33 + 34+35+ … + 32013) - ( 31 +32 + 33 + 34+35+ … + 32013)
=> 2.A = 32014 – 3
=> A = (32014 – 3):2


b) Tìm x:
2A + 3 = 3x
=>  2. (32014 – 3):2 + 3 = 3x
=> (32014 – 3) + 3= 3x
=> 32014  = 3x
=> x= 2014
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